Demonstrate how to convert values between decimal, binary, and hexadecimal numbers.

Problem

Using the following table, convert the defined value into the correct value for the corresponding number system:

	Line 
	Decimal
	Binary
	Hexadecimal

	1
	2678
	
	

	2
	
	
	8FC

	3
	
	101110110111
	

	4
	73200
	
	

	5
	
	
	DD99FA

	6
	
	1100111011001111011010010110
	


Procedure/Steps

Step 1: Convert the values given in the table into the corresponding values to fill the remaining blank cells in each row.

Step 2: Do not use calculators. Show the steps you took to convert each of the values.

Activity 2 Description

Demonstrate how to do basic math computations between binary and hexadecimal values.

Problem

Perform the following calculations, showing the details of each step you took to arrive at the final answer. After arriving at the correct answer, convert your answer into the decimal number system.

Procedure/Steps

Step 1: 7B + 12F = _________ (Hex Value), which is ___________ (Decimal Value)

Step 2: 1132 – 6C = _________ (Hex Value), which is ___________ (Decimal Value)

Step 3: B9 x 101 = _________ (Hex Value), which is ___________ (Decimal Value)

Step 4: 24 / C = _________ (Hex Value), which is ___________ (Decimal Value)

Step 5: 101110 + 1010111 = _________ (Binary Value), which is ___________ (Decimal Value)

Step 6: 101111 – 11110 = _________ (Binary Value), which is ___________ (Decimal Value)

Step 7: 110000001 x 11101111 = _________ (Binary Value), which is ___________ (Decimal Value)

Step 8: 110010011101101000 / 10000000000 = _________ (Binary Value), which is ___________ (Decimal Value)

